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JIE 7. K 4 oUT IN G |HC NET 7= 7 NEVAR= dA,

1 EEFIERD 38 38 76 7.6 68.4
2 RImpsZE 45 45 90| 18.4 71.6
3 AalizE— 43 40 83 11.2 71.8
4 HEES 38 38 76/ 4.0 72.0
5 RESS 44 46 90| 17.2 72.8
6 HPRFIE 39 42 81, 7.6 73.4
T REBML 43 44 87 13.6 73.4
8 THHEIA 42 49 91| 17.2 73.8
9 B Hfd— 45 46 91 17.2 73.8
10 =2 i) 45 42 87 12.4 74.6
11 HREIRK 39 40 79 4.0 75.0
12 FHyr=w] 44 40 84 8.8 75.2
13 AMREEZ 43 44 87| 11.2 175.8
14 /INFHRIR 45 48 93 17.2 75.8
15 EEER 51 48 99| 23.2 75.8
16 mH&EHT 49 49 98 22.0 76.0
17 T HET 44 41 85| 8.8 176.2
18 EFTREEIREAR 52 51 103 26.8 76.2
19 )%= 44 44 88 11.2 76.8
20 {F&5HkAE 44 46 90 12.4 77.6
21 A JIAAE 44 50 94| 16.0 78.0
22 ABE= 47 47 94 16.0 78.0
23 HLIELT 49 50 99| 20.8 78.2
24 [T TS5 I 49 46 95 16.0 79.0
25 [Tk 46 48 94| 14.8 79.2
26 MACEEY 50 50 | 100 20.8 79.2
27 PR 52 53 | 105 25.6 79.4
28 Al 49 48 97 17.2 79.8
29 [ FHIA 50 44 | 94 13.6 80.4
30 IBAES 52 48 100 19.6 80.4
31 /NALTRK 49 51 100 18.4 81.6
32 5L 51 55 | 106 24.4 81.6
33 AHhzERA 53 56 109 26.8 82.2
34 FART SERR 51 57 108 25.6 82.4
35 h 52 53 105/ 22.0 83.0
36 HAHE 58 49 107 23.2 83.8
37 mIHA 59 56 | 115 29.2 85.8
38 A& - B 61 55 116 29.2 86.8
39 JTRRIE 53 63 | 116 29.2 86.8
40 KV J\BR 61 63 124 34.0 90.0
41 HEERIE 61 66 127] 36.0 91.0




